Exponents and Power

QUESTIONS

1. What is the value of (1°x 2°) x 52?

(a) 25 (b) O (c) -25 (d)1
2. Which of the following values are equal?

(i)1° (ii) 4°

(iii) 0* (iv) 3

(a) (i) and (ii) (b) (ii) and (iii) (c) (i) and (iii) (d) (i) and (iv)
3. What is the sum of the powers of the prime factors in 72x192?

(@) 5 (b) 7 (c)8 (d) 12
4q. Express (—3)4 +n* in the form (%jn .

4

@2 (b [—%j @ 2 @22
5. Express axaxa x cxcxcxc X b x b in exponential form.

(a) a’c®b® (b) a°c’b (c) a’c’b? (d) a’c*b*
6. Which of the following statements is correct?

() (2°) and (3%)* are not the same
(b) (2°) and (3*)* are the same

(c) (6%)* =6

(d)(8")° =8"

7. What is the value of 2* x 5°
(a) 2453 (b) 2000 (c) 11200 (d) 10000000
. 2! x3%x3°
8. What is the result OfW?
243 46
_— b) 42 — d)48
(@) 3 (b) (c) 16 (d)
9. Express ———— as a product of prime factors in a exponential form.
26 % 3% 2°x3° 2°x 33 20 x 3%
b d
(a) o7 (b) 5 (c) =5 (d) o2

10. The value
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

The value of(ij ’

125
625 125
(a) E (b)f
Cube of (——) iS.eveeennn.
-1 1
(@) (@) (b)%

If 3* =300, then the value of 3 is

200 1
Ty 563

-1

Find the numerical value of (4096)4 .

(a) 16 (b) 8

-30 -30
Simplify and leave the answer in the exponent form (gj X (—] .

(@) = (b) 1

5

Find the numerical value of 16°7

(a) 8 (b) 32

Express 6 x7* x(87%)x6° x(7?)? x8* in the simplest exponential form.

(a) 6°72 (b) 6°
Solve 81% = (729)"

3 2
(a) X = Z (b) X = §

4 3
The value of x so that (%j (%j = (7

(@)1 (b) 2

The speed of light is 300, 000, 000 ms™ . Express it in standard form.

(a) 3.0x10% ms™!
(c) 3.0x10° ms™

(c) @

(1%

(c) 4

5
3

(c)2°

(c)6°7*

(b) 3.0x10" ms™
(d) 3.0x10% ms™

3
(dx=5



ANSWER - KEY

1 A 2 A 3 D 4 B 5 D
6 A 7 B 8 A 9 B 10. D
11. A 12. A 13. C 14. D 15. B

16. A 17. B 18. D 19. B 20. A




SOLUTIONS

1. (1°x2°)x5% =(1x1)x25=25
2. 1®° =1x1x1=1; 4° =1 (Since any number to the power zero is one)
3. 72 = 2% x 3% (Prime factors are 1, 2, 3); Prime factors are prime numbers

192 = 2° x 3! (Prime factors are 1, 2, 3)
. The required sumis3+2+6+1=12

4 a"+b" = (%]m = (—3)4 +n*
-3\
e
5. a three times = a?; c four times = ¢*; b two times = b? .. a’c*b?
6.  (2°) =2°and (3*) =3*now 2° #3°
.. not same and hence correct statement.
7. Expand 2¢ x5°, 2% x5°% =
x2x2x2%x2x5x5x5=16%x125 = 2000
1 x 2 x 3
8. : 12:1 423
_xF o
1x D64 8
9. 729x64 3Fx20  FPx2

270  3Fx2x5 5
) !
— 5.4 1 -

10. 2 7 z(%lj :(—%j :j;%:%x?:%:. (_?1)+%=—1
2) £

,% 3 J% 43)(3
w ()" (5
125 53 5
)4_(5]4_2_@
l2) 2¢ 16
3
12. (_lj =__13=__1
9 9% 729

13. 3x=300:>3:—:3x’2:—




14.

15.

16.

17.

18.

19.
20.

100
3

3x—2 —

12—

(4096)7 =(22) " = A7) _gs 1

Similarly 3% =9;3* =27...;....3° = 243,3° =729 etc.
BEOROn)

—_ x| — = — x| —

5 3 3 3

30-30 0
g
3 3

16 - (2¢)" = 2"

=2°=8

x7x7x63x7/‘/ x 8

=62X63=62+3=65
(92)2x=(93)2:>94xz96:>4x:6:>x:;

Not available

Not available



